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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4151191601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The current flowing through an element containing a charge of g Coulomb for a time of 7 second is given by:
Options :
1 #® qr

dq
> o dt

1

o B qt

dt
4 % 49

Question Number : 1 Question Id : 4151191601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

q FoEEE AT A UF TAAC | W WAT & TAEA g T O # e s wefie e
£
Options :

1%

dq
> ¢ dt

1

= & qt

dt
4 % 49

Question Number : 2 Question Id : 4151191602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine C.q in the given circuit.

& mF 12 mF
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© 1y l 5

|_> ImF == 4mF
o T

i
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Options :

5 ® Ceq=1ljuf
5w Ceq=AME

Question Number : 2 Question Id : 4151191602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

few av aftmyr 7 Coq 7 FfST

i~ e 1 ) m
o M 1 mr

T |
o iy l 15
OmF =— 4 mF

—
)

Ceq
Options :
- Ceq = 4 mF
o % C‘Eq = 11.7 IJ.F
3 % Ceq =4 }J.F
4 % Ceq = 11.7 mF

Question Number : 3 Question Id : 4151191603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the current flowing through a 10 k{1, 1 W resistor?
Options :

1 % 1mA

> % 0.1A

s« 0.01A

g4 B 1A
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Question Number : 3 Question Id : 4151191603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

10 kQ, 1 W ity & & foraeit urr garfed grefr?

Options :
1 ® 1T mA

- % 0.1 A
2« 0.01 A

4&31A

Question Number : 4 Question Id : 4151191604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The law(s) that is/are defined on the basis of principle of conservation of charge is/are:
Options :

, w Kirchhoff’s Voltage Law (KVL)

- % Ohm’s law

- « Kirchhoff’s Current Law (KCL)

4 % both KVL and KCL

Question Number : 4 Question Id : 4151191604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

feaa 7 ¥ Fid a9 39T 50T & BEa & 3R 97 9ienia 2872
?p:m%araﬁmm (KVL)

5w H F FEH

o » fTEs FToan faas (KCL)

. % KVL 3R KCL =t

Question Number : 5 Question Id : 4151191605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find the voltage at node ‘a’ in the given circuit.

100 o 2
W)
O12v (#E.ﬂ. 400
£

Options :
;% Va=8YV

2,&? Va=161'u'r
3.% Va:321vr

4.% Va=31'r'r

Question Number : 5 Question Id : 4151191605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

few =rv ofmy F AT ‘@’ 9T el AT =T

0 5, 2V .
O12v 3A §mm
B 8
Options :
; % Va=8YV
5wt Vg =10
= b4 Va=32v
4 % Va=3V

Question Number : 6 Question Id : 4151191606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A source transformation is the process of replacing:

Options :
1, *

a voltage source (v;) in parallel with a resistor (R) by a current source (i) in parallel with a resistor (R)
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g *
a voltage source (V) in series with a resistor (R) by a current source (i.) in series with a resistor (R)

S
a voltage source (V) in series with a resistor (R) by a current source (i) in parallel with a resistor (R)

4 %
a voltage source (v,) in parallel with a resistor (R) by a current source (i) in series with a resistor (R)

Question Number : 6 Question Id : 4151191606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

W FIEI0T T wfazemas $r gfkar &

Options :
1 ®

ofeliy (R) F FAE &7 # §0TsT d== "9 (vs) F 950 (R) & FAAT #7 # §Ufas UF Ui
e (is)

RN (R) & WY AUTES F WO aece ®IF (Vo) # SeRn (R) F wWY AviES H§ Fare Te
o @ (i)

s o
iy (R) & @y Avfem & @afSa dees |19 (Vo) #1 9fadw (R) & @y gAeT &85 & §aEa o
U B (i)

.I':l‘i"'r'mu{ﬁj#mmﬁmﬁmﬂﬁ{ﬁ}ﬁ#ﬂﬁﬂﬂ[ﬁ}#-ﬁtﬂﬂﬂﬂ’ﬁ'ﬂﬁﬁﬁwmﬁ(is}

Question Number : 7 Question Id : 4151191607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The relation between permeability (1) and reluctance (5) is given by:
(Where [ is the mean length of magnetic circuit for flux, and « is the area of cross section available for flux.)

Options :

l

B
S
al

i

o ® H
l

5. M
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4 R lua

Question Number : 7 Question Id : 4151191607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JaFMeA (1) ¥R Sy (S) F A9 & Haw # 50 5o e R e 7 (69 1, #fee
() * T T ofsy r Anew Fa § T o sfEEe (Teew) F T Iuee ey e W
HTE 2
Options :
l
S=_
S
al
&
o R 2
g 8
z ® a
1
€.
4 ® lua

Question Number : 8 Question Id : 4151191608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a series RLC circuit, if the magnitude of the voltage drop across E. L and C is measured to be 30 V each, then the
magnitude of the supply voltage 1o the cireit will be:

Options :
; % 0V

5 o 30V
2 % 60V

4% 90V

Question Number : 8 Question Id : 4151191608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF AU RLC 9y & o R, L 3T C & & veiw # deex ree &1 oftamor 30 v #Amar @
#r, ar ofey Fr s T ar S oA e g

Options :

1 ® oV
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> @ 30V
5 % 60V

L% 90V

Question Number : 9 Question Id : 4151191609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A balanced 3-¢. star conmected AC generator generates a phase voltage of magmtude |[Es| = [Egl = [Egl = 100 V. If the
connection to one of the phases 15 reversed, what will be the magnitude of the line voltages?

Options :

; % |[Eal=[Eg|=[Ec|=173V

> % [EAl=|Ep| =|Ec/=100V
s « [Eal=173 Vand [Eg| = [Ec|= 100V

, % [Eal=|Ep/ =173 Vand [Ec|=100 V

Question Number : 9 Question Id : 4151191609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF Hfoid 3-p, TR FATSET AC ST (Bl = [Eg| = |Ec| = 100 V giEwr & &7 dees 3090
AT B OfE wH B B v B & el 59 fear ST, 3t oEs ateest & SATOT &7 gem?
Options :

, = |Eal

|IEgl = |[Ec| = 173 V

> » |EAl = |[Eg| = [Ec| = 100 V

s« |[EAl =173V AT |Eg| = |[Ec| = 100 V

100 V

. = |Eal = |[Eg| = 173 V 3R |Ec|

Question Number : 10 Question Id : 4151191610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The loss angle of a capacitor can be accurately measured by:
Options :
, % Carry Foster Bridge

- % Anderson’s Bridge
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- » Kelvin’s Double bridge

4  Schering Bridge

Question Number : 10 Question Id : 4151191610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TaRT & gifd For A ARl # ¥ F9 & @nT T&Far & A9 S THar 82

Options :

 x O BER S gEmr

x A O gEr

2

. x Pload 9d ST @

, v I B Er

Question Number : 11 Question Id : 4151191611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-¢ induction motor, the ratio Pj: P, : Py is equal to:
(Where P; = Rotor Input, P. = Rotor Copper Losses, and P, = Gross Mechanical Output)
Options :

;% 8:(1-s):1

o % 1:(1-8):s
5 o 128:(1-5)

4 % (1-8):1:s

Question Number : 11 Question Id : 4151191611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TE 3-p ST HeT A, Py P Py 3T B @ @i 47 (99 P = 92T 9T, P = e & aw
=, 3T Py = a9 T 33T §)

Options :

; & 8 1(1s) 11

> % 1:(1-s):s

sogr L 08 2 {1-5)
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4% (1-8) 21 s

Question Number : 12 Question Id : 4151191612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The synchronising torque T, of an alternator connected to an infinite bushar is given by:
(Where E 15 the generared EMT. X, i the synchronouns reactance. @ is the slot angle and ¥, 15 the synchronous spead)

Options :
_ 2864aE®
1 & o X.S‘NS .
7. 90aE*? N
w Y ZEN,
o e 5 g
ou ¥ 28BAKLN,
2naE?
e — Nm

<8 7 SOXN,

Question Number : 12 Question Id : 4151191612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TH A FHAN ¥ FASd Gedidas 1 Jedaias deer 1, Fw var wefia Far smar 82

(ST8T E 3c9ee EMF g, X, Jegaioes Sfaera 8, a Tie HI0T § 3R N, eaHioes T §)
Options :
28.64aE?
L
90aE?
T, = Nm

w8 T kN,

o e Ty
. x ¥ 2864XN,

. 2naE? 5
L% ¥ 90xN,

Question Number : 13 Question Id : 4151191613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For voltage regulation of the transmission lines. synchronous motors are used as:

Options :
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| % stroboscopic device
-  Dpower factor correction device
- % timing device

, % beltdriven reciprocating device

Question Number : 13 Question Id : 4151191613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

9NEUT WEAT F decs oA & B, oo Al & & ¥ & I T S g
Options :

3B Hgfeaesft (TEEThITs) 370

zlﬁamwwm

z ® CASE IR ECIER ]

4 % o€ Iold TAPTAT 3IHI0T

Question Number : 14 Question Id : 4151191614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is a power plant withihigh initial cost, low rumming and maintenance cost and with NO standby
losses?

Options :

, w Diesel power plant

- % Steam power plant

o  Hydro-electric power plant

, % Nuclear power plant

Question Number : 14 Question Id : 4151191614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

=5 § 5w fega a7 & TRies ara 31w, S9re 19 [TREE ard w7 2 & AR e
Hafea afagt a8 2 &2

Options :

= gt e w9+

1
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Question Number : 15 Question Id : 4151191615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of motor is NOT used in Kiln Drives?
Options :

, % DC motor with transformer step switch control

o  Synchronous motor
- % Slip-ring induction motor

4 % Ward Leonard controlled DC motor

Question Number : 15 Question Id : 4151191615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

foree IrEew # =79 ¥ 59 YR # AieT FT 394AET Jg S Sar 87

Options :

i TR T T e IoFa DC AX

il gﬂﬂﬂalmﬂa e

- % TEeg-fEr SoT A
4 » 918 Forg=e Aafa DC A

Question Number : 16 Question Id : 4151191616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In electroplating of gold. what quantity of plating solution consists of 18 gm of potassium gold cyanide?
Options :

1 ® 100 cm’

5> « 1000 cm?
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= % 10 em?

4 % 1cm’

Question Number : 16 Question Id : 4151191616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e & FEge-Aae (sRegate) & fuw Bene & B arn & 18 gm R e wreares @ 17

Options :

. % 100 cm?

5 « 1000 cm?

z % 10 cm?

4 % 1 cm?

Question Number : 17 Question Id : 4151191617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Reduction factor is given as:
(Where M.S.C.P. is mean spherical candle power and M.H.C.P. is mean horizontal candle power.)

Options :
M.S5.C.P.
1wt MUH. COP.
M S.C.P.= (1 - )
oo® M.H.C.P.
MH.C.P.
= % MSC.P.

4 % M.H.C.P.x M.S.C.P.

Question Number : 17 Question Id : 4151191617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT U e weR 92 fiE B @ g
(FE TR.TE AL (M.S.CP.) AT T Frw-afEs ¢ T temm A S (MH.CP) snT &8s dam-
A 7)

Options :

M.S.C.P.
. & M.H.C.P.
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1
MS.CP.= (1 —)

o % ~ M.H.C.P.

M.H.C.P.
s % M.S.C.P.

4 % M.H.C.P.x M.S.C.P.

Question Number : 18 Question Id : 4151191618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How does temperature rise affect the resistance of a good conducting material?
Options :
, « Resistance of the material increases almost linearly

- » Resistance of the material increases almost exponentially

5 » Resistance of the material decreases almost linearly

4 » Resistance of the material decreases almost exponentially

Question Number : 18 Question Id : 4151191618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

araghe w1 ot off garers gery & FiaUy 9 FAT g gar g7

Options :

| v eI F Aoty wEeTer e 9 § S g

o % FErY T GIcRIY ST OaEhT §F & §EdT g

. » UETY & iRy e i@s 9 & gedr g

, » GETY & SfeRIe STt g ¥ ¥ uedr gl

Question Number : 19 Question Id : 4151191619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine the equivalent inductance (L.y) for the given circuit.

" mH
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Options :

. ® Leg=1.8mH

, & Leq=14H

. & Leq=18pH

, o Leq=14mH

Question Number : 19 Question Id : 4151191619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

feT sv a9y & T Aged 9T (Leg) A =T

3 mH
YV

Options :

w Leg = 1.8 mH
. w Leq = 14 pH
.« Leq = 1.8 pH
, » Leq = 14 mH

Question Number : 20 Question Id : 4151191620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine fhe resistance of a 100 §i length of copper wire with a diameter of 20 mils. Assume resistivity p = 1037 CM- 01/
Options :

L % 41480

> % 5290

- % 48410

4 o 2590

Question Number : 20 Question Id : 4151191620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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20 mils =TT ITer 100 ft &1 916 & d 7 kY AT SHev| AT o & gfatresar
p = 10.37 CM-Q/ft g1

Options :

% 4148 0
. % 529 0
o % 4841 0

4w 2209 0

Question Number : 21 Question Id : 4151191621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For the given Norton equivalent circuit, determine the Thevenin voltage (V1) and Thevenin resistance (Rty).

i
JA
f_n.- @ R_\- = 2{}
| -
. fy

Options :
. % Vig=3VandRry=20

> v V=6 VandRry=20

2% VIH=2VandRrg=60

, % VIE=2VandRry=30Q

Question Number : 21 Question Id : 4151191621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T o Aicw wAgew vy F v, dEfaw dees (Vry) 3R dafas 9fedyr (Rpy) w9 HifSw

[ @
L3A
f_l.'@ R\' = : i1
— o
2 h

Options :

| ® V1y = 3 V 3T Ry

20

oo VIH=B6V AT Ry =20
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6 Q

3 % V1y = 2 V 3T Ryy

30

4 % V1y = 2 V 3T Ry

Question Number : 22 Question Id : 4151191622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Maximum power transfer occurs when the load voltage and current are:
Options :

| % 1/39 of their maximum possible values
o % 1/4™ of their maximum possible values

g % U 8™ of their maximum possible values

4  1/2 of their maximum possible values

Question Number : 22 Question Id : 4151191622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HFaH AfFT 30T a9 9T &, FF AT Sec AT am

Options :

| % 9 Hwaw Fea AE % 1/3 @9 &

o« HI AfOwaR Hafag A& & 1/4 g9 B

. x 39 HOwaw menfag &= F 1/8 g &

L v HI AO%aH waled A& & 1/2 g 8

Question Number : 23 Question Id : 4151191623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine V4, in the given circuit.

(1« iy + i
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Options :
, @ Vap=15V

% Vip=165V

2
- % Vapb=9V
L% Vap=75V

Question Number : 23 Question Id : 4151191623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

7 ow av afmy 7 Vg F e fifsT

Options :

o Woiy= T
> # Vab = 165 V
s % Vab=9V

4 % Vab = ?5 V

Question Number : 24 Question Id : 4151191624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The statement “In a closed loop of an electric cireuit, the algebraic sum of the EMFs 15 equal to the algebraic sum of the
potential drops™ comesponds 10

Options :
, « Kirchhoff’s Voltage Law (KVL)

> % Ohm’s law

5 » Kirchhoff’s Current Law (KCL)

4 % Lenz’s Law
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Question Number : 24 Question Id : 4151191624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘o REgs sfioy & w= &g 9 (F9) A, EMFs &1 @30 o et & 8 & deafoae
T F A A T, 97 e RE ¥ Eafh

Options :
| v S & deear A (KVL) &
. « S & arr @I (KCL) &

4 % m#mﬁ

Question Number : 25 Question Id : 4151191625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine q in the given circuit.

SmA b |0 mA
]
" | =—4mA
IC
T - - v
= \ e
] N ITLA
Options :
; & {1=5mA

.« 11=39mA
. v l1=-5mA

. % l1=-17mA

Question Number : 25 Question Id : 4151191625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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few sto oftgy & I; Fa fifsw

Options :

, = 11 =5 mA
> % 11 = 39 mA
oqp Al 5D

4 % 11 =-17 mA

Question Number : 26 Question Id : 4151191626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ampere turn (AT) is the unit of which quantity?
Options :
1 ® Flux

> w Magnetic flux density
-  Magnetomotive force

, % Magnetic field intensity

Question Number : 26 Question Id : 4151191626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

iy = (AT) &g ofer & == 32

Options :

| » ATEEE (FeeH)

TEHIY AR g

o W2
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— ﬂaﬁﬁalgl del

- gﬁmmﬁm

Question Number : 27 Question Id : 4151191627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A coil of 500 tums 15 wound over a circular ron ring of diameter 20 cm and area of cross sechion Iem’. It produces a

flux of 0.5 mWb when camying a current of 2.09 A, Calculate the permeability of the matenal.

Options :
. % 8.334

> % 83.34
- « 833.34

4 % 8333.34

Question Number : 27 Question Id : 4151191627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3 em? HAWEY FIE F &% HT 20 cm W # geaen Ay $r FEr 97 500 & fr o FEen aud

T g AT WA 2.09 A U FAITEA @F 9T 0.5 mWb &1 SR HiWEE (FEEE) 39 @ 81 Jard
# Jawlea A i

Options :

| % 8.334
. % 83.34
;v 833.34

. % 8333.34

Question Number : 28 Question Id : 4151191628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two coils X and Y of 230 and 240 turns respectively share a common magnetic circuit of mean length 0.8 m and
uniform area of cross section 100 cm?. Determine the mutual inductance between the coils if i =1110.

Options :
L v 0.962H
> % 2.691H

- % 6.962H
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4 % 9.162H

Question Number : 28 Question Id : 4151191628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

230 T 240 &7 Il & gl X AR Y FA 0.8 m AT wEE AN 100 om? F TEEAW FEEET
FT F HTFE T TH IHOTATS AT SUTY F AT w0 £ a0 e F &9 v W A
$ifew, ofr = 1110 7

Options :

. v 0.982 H

. % 2.691 H
- % 6.962 H

L % 9.162 H

Question Number : 29 Question Id : 4151191629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An airplane has 6.1 m wing span and flies at 200 k. The vertical component of the magnetic flux density of the
earth’s magnetic field is 50 pT. Determine the EMF induced between the wing tips.

Options :

, % 67TV

o o 67.7mV

oz x 767UV

4 % 76.7TmV

Question Number : 29 Question Id : 4151191629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

UF gEEeEE & gl # $eT 6.1 m g HN 7F 800 km/h T TEEAN & 3547 ¥ A F R 69 F
IeRT HNEE Gded F Fed g2 50 uT 7| S 9@ F A F I 9fg EMF FE fifam

Options :

. u 67TV
. » 67.7 mV
svu 10T YV

L % 76.7 mV
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Question Number : 30 Question Id : 4151191630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The relation between mutual inductance (M), self inductance (L) and coefficient of coupling (K) is given by:

Options :
K
M=—
o 4 LlLE
M K
z ® LlLZ

Question Number : 30 Question Id : 4151191630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Hedted 9TOT (M), AT (.'.}ﬁwqm[x}tﬂﬂ#ﬁuﬁﬁmmuﬁaﬁvmmh

Options :

v M=K JLL,

K
M=—
_ J L1Ls
M— K
= B LlLE
4 ® ME = K.\/LJ_LE

Question Number : 31 Question Id : 4151191631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the maximum value of an alternating signal to its RMS value is known as its:
Options :
, % Dpitch factor

> « crest factor
= % distribution factor

4 % form factor
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Question Number : 31 Question Id : 4151191631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

U Searad fee & fUean A HX 3EF RMS A & HeTId &7 Tl SAar g7

Options :

|y T T (e )

E_Wﬁmw(mm}
't T o (REiegee ae)

F AT (B HF)

4 ®

Question Number : 32 Question Id : 4151191632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

he phase impedance of a balanced star connected load is 2 = 40 + j30 1. What will be the phase impedance of the
equivalent A -comnected load?

Options :

% Zy=40+j300
s Zy=120+j900

o Zy=(40+j30)x/3 0

4w Zy=(120+j90)/3 0

Question Number : 32 Question Id : 4151191632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

UF Hafod TR ®Ai=E o5 & e 9fEan 2, - 40+ 300 ¥ 56 FAged A-ROeE @5 & e
wieraur e gr?

Options :

 x Zy=40+j300
o » Zy=120+j900
. % Zy=(40+j30)x V30

4w Zy=(120+j90)/3 0

Question Number : 33 Question Id : 4151191633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

The frequency of oscillations in a tank circuit is:
Options :
, « mversely proportional to L and C

. w directly proportional to L and C
- % inversely proportional to L and directly proportional to C

4, » inversely proportional to C and directly proportional to L

Question Number : 33 Question Id : 4151191633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

U &F ROy F eEr S dgs & ger i g 22
Options :

L 3k C F sycmaaaa
1. Ao K-

- LikcCc® ITHHTIT]

S L & SgchATII! ok el TR HATIT!

i C & SLchHATEITd] AT L F TR HATTIT)

Question Number : 34 Question Id : 4151191634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unknown resistance in Kelvin®s double bridge is given by:

(Where Error A = E g E] )

Options :
o
=, 1] v+ q+r
Fo P, BORS
5 R 1@ B2 s
.P -
Tl S, o
5 ® Q ptq—r.
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P q
X=[—.S'——]
4.33 Q p+q+T

Question Number : 34 Question Id : 4151191634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fiocad & Z9d §a F 3T 9 # g g1 92T B Far 87
@t 3 4 = [2-7))

e g
Options :

X—[PSJr ol ]
P Q e T
X—- gAr ]
5 R L) 1T
.P -

Folb §q, 1
= ® -Q LT

P q
X=[—S——]
4_%‘3 Q ’p+q+T

Question Number : 35 Question Id : 4151191635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. i J l Fi o g . /
What is a Megohmmeter used to measure?
Options :
1 % Low value of resistance

> % Medium value of resistance

-  High value of resistance

, = High value of capacitance

Question Number : 35 Question Id : 4151191635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

BITHFHET FT IYART FAT AF F e G Frar 2
Options :

, % Sfarer & T A3

> % FIAY F ACTH A
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5 TCRIE & 3= #AA

Question Number : 36 Question Id : 4151191636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A voltage of V = 150.£60° V 15 apphied to a load which carmes a current of [ = 50£30% A, The complex power supplied
tor the load is:

Options :
| & S=7.5230°kVA

5 % S=7.5290°kVA
2 % S=3£30°kVA

4 % S=3290°kVA

Question Number : 36 Question Id : 4151191636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF AF 9T UF Seea V = 150260° V AT ST f, TEE 4R | = 50430° A 99 A9 7 S S
AT T o0 FEAY oS (Feoew gia) e 27

Options :
. v S = 7.5230° kVA
> % S = 7.5,90° kVA
. % S = 3230° kVA
. % S = 32,90° kVA

Question Number : 37 Question Id : 4151191637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is Hay’s bridge used to measure?
Options :
, % Inductance of low Q value

-  Inductance of high Q value
w Capacitance of low Q value

=

, » Capacitance of high Q value
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Question Number : 37 Question Id : 4151191637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

27 &7 (Hay's bridge) &7 39T #41 A9« & e &Far smar g2

Options :

| » T Q AF # W
- v 3T Q AT F Wehed
- » foFT Q AT Fr arfar

4 % 3=F Q AT Fr ariar

Question Number : 38 Question Id : 4151191638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 250 V moving iron voltmeter takes a current of 0.05 A when connected to a 250 ¥V DC supply. The coil has an
inductance of 1 H. What will be the reading on the meter when connected to a 250 V, 100 Hz supply? Assume

impedance at 100 Hz to be 6000 ().

Options :
, % 248V

o> « 208.33V
2 % 28033V

4 % 284V

Question Number : 38 Question Id : 4151191638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF 250 V I9-ig (ATE-A0T) dieedizt, 250 V DC Hfd § Foee HT9 T 0.05 A Ul =T 7
N 1 WS 1 H &1 I 33 250 V, 100 Hz 9 & wafaa fmar sman &, & gwe rears aa
gm? 100 Hz <7 sfdamn 6000 N &= =)

Options :

| % 248 V

. v 20833 V
- % 280.33 V

L% 284 V

Question Number : 39 Question Id : 4151191639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the number of parallel paths of a 4 pole duplex lap winding?
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Options :
1.+ 8

2_%5
3_%4

4.$22

Question Number : 39 Question Id : 4151191639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

491 SoOFH ofT ATETEA A fohae @AET 9Y g 87
Options :
1« 8

2_%6
3%4

4.$22

Question Number : 40 Question Id : 4151191640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why is a starter necessary to start a DC motor?
Options :
, w Because it has zero starting torque

» % DBecause at start, back EMF is zero
- % DBecause it has high starting torque

4 « Torestrict high inrush current

Question Number : 40 Question Id : 4151191640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

DC AT & Te = & o0 T Fr 3=98ear #47 9sar g7

Options :

|y TS SHHT IRIH MU L & §

, Tl T & FHY, % EMF 2 g §
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L FITh SHAT YRIHF HTEUT 3= giar &

4, v 399 Adag ORI F et & fT

Question Number : 41 Question Id : 4151191641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of DC generator is used in power shovel drives?
Options :
, » DC series generator

> % DC shunt generator
-  Differential compound DC generator

4 % Cumulative compound DC generator

Question Number : 41 Question Id : 4151191641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gray i S8l H 5T 9 & DC Fe¥eT &l 394 fhar =mar 272
Options :

1 ® DCMEFF:ET
> % DC 2E FateT
. » TET FU38 DC Felel

Question Number : 42 Question Id : 4151191642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 10 hp, 600 rpm DC shunt motor draws a line current of 18 A at 500 V. Determine the efficiency of the motor
assuming 1 hp =735.5 W.

Options :
. % 78.1%
o B 71.8%

s « 81.7%

4 % 82.8%
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Question Number : 42 Question Id : 4151191642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T+ 10 hp, 600 rpm DC o2 AlZT, 500 V 97 18 A &I SE 0T oA g1 1 hp=?35.5WH1?-‘IT3T§‘E'
AT @ T8 AT #if=AT

Options :

. % 78.1%
- % 71.8%
2 ¢ 81.7%

. % 82.8%

Question Number : 43 Question Id : 4151191643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine the ratio of weizhi of copper in an mctransformer el 8 two winding trangformer if the transformation ratio
15 5,

Options :

1 % 3

> o 0.667
3 % 2
4 % 1.5

Question Number : 43 Question Id : 4151191643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ofy FaiEter W 3 3, A U g At v g afe o geent @ G F 39 w7 A
A #AT)
Options :

1 ® 3
. « 0.667

3%2

g4 B 15

Question Number : 44 Question Id : 4151191644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The voltage regulation of the transformer will be negative when the power factor angle (¢) is:

Options :
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i R)
ql.'JZHIH =
o W
L R
ql.'J‘ﬁ: tan (})
5 W
s >0

Question Number : 44 Question Id : 4151191644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AfeFa ot 0T () g 9T TEFAT FT diecs ATHT HUMcHSF 2|

Options :

i R
@ > tan (X_)
1. ¢

Question Number : 45 Question Id : 4151191645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A Y-A transformer bank CANNOT be paralleled with either a Y-Y or a A-A transformer bank because the phasor
voltage difference between the two systems would be:

Options :
, % 0.25 times the secondary voltages
5 @ 0.75 times the secondary voltages

5 o 0.5 times the secondary voltages

4, = equal to the secondary voltages

Question Number : 45 Question Id : 4151191645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TF Y-A FHEHT 8F F Y-Y T A-A TEEHT &F F WY FAS #7 F s a8 & 57 @4,
T ST FONTeET ¥ #r e S et BT

Options :

. gradTe atedst § 0.25 [T
5 8 gfaeges deest & 0.75 T[T
Suﬁ,aﬁ?ﬁ'aa:aﬁmﬁo.sa;m

, % Slacge el & e

Question Number : 46 Question Id : 4151191646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of winding is suitable for HV winding of a small transformer?
Options :

, w Sandwich winding

- « Cross-over winding

- » Continuous disc winding

4, # Helical winding

Question Number : 46 Question Id : 4151191646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

BIE TEEHT Hr HY aEfEeT F v sa8 @ BFa ger &1 a3 sagea gidr 27

Options :

" de
L » PE-3ET TR

i

, « TERER arsfeeT

Question Number : 47 Question Id : 4151191647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-phase induction motor, the maximum torque under standstill occurs when the rotor resistance (Ra) is:

Options :
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1.9 equal to leakage reactance (X7 + X5)

- » greater than leakage reactance (X; + Xj3)

- % less than leakage reactance (X; + X»)

, % almostequal to X - X5

Question Number : 47 Question Id : 4151191647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF 357 W07 AT &, B aEew F aed w¥fiwaw oUe aE g & = xR (Ry) @
Options :

| 80T FfAEna (Xq + Xp) & S
5 % &oT gfgema (X + Xo) & HEs
2 % aoT gfeera (X + Xo) § &F

L, % O X - Xo & SR

Question Number : 48 Question Id : 4151191648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 3-0. 50 Hz, 6 pole induction motor has a slip of 3%. What will be the speed of the motor?

Options :
| % 1440 rpm

5 R 1000 rpm

- % 1500 1pm

g v 970 rpm

Question Number : 48 Question Id : 4151191648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T 3-¢, 50 Hz, 6 ¢ ST Hex $1 FoaT 3% g1 Ay @ a1 Far gei?

Options :

. = 1440 rpm

» % 1000 rpm
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- % 1500 rpm

4 v 970 rpm

Question Number : 49 Question Id : 4151191649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Braking action occurs when the slip of the induction motor is:
Options :
1 % between 0 and 1

- % equaltol
-  greater than 1

4 % lessthan 1

Question Number : 49 Question Id : 4151191649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SIUT A Fr T 2 W ST R g 2

Options :

. % 03R 1 F 8=
2_%1#W
- v 1 8 HAEw

4%1@@

Question Number : 50 Question Id : 4151191650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-phase induction metor. the rotor induced EMF per phase (E,) is equal to:
(Where E, is rotor induced EMF at standstill and s is slip)
Options :

1. ¢ oy Eﬂ
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4 % SET.

Question Number : 50 Question Id : 4151191650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T 3-% 9UT AT H, U 9T EMF 97T &F (E,) TFas e gidr 872
(S8 E, TBaR sgzam & qex 9g EMF 7 3k s BT 8)

Options :

1 o SE,

o W Ea

Question Number : 51 Question Id : 4151191651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-phase alternator, weakening of the main flux due to armature reaction results in:
Options :
, % unity power factor

o o Zero power factor lagging

- % zero power factor leading

4 » intermediate power factor

Question Number : 51 Question Id : 4151191651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

uE 357 TeurEaw A, HHE SfAafEm & o gen wfiEw (veww) @ w0 el A e A
afyform g 7

Options :

s ATEd T[T
1_% o

AT TS TUTSH TI=IMHT
2‘\'7"? o™, e

AFT AT TOTR HIITH

5 ®
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Fegad! efda o

4 ®

Question Number : 52 Question Id : 4151191652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A synchronous machine:
Options :
, « delivers lagging reactive power to the system when overexcited

« delivers lagging reactive power to the system when underexcited

-

- » draws lagging reactive power from the system when overexcited

4 » draws leading reactive power from the system when underexcited

Question Number : 52 Question Id : 4151191652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

wn gwﬂalfﬁﬂa Tl

Options :

| v ATascatod 89X JUTel S ge=Emr IREE AP wE FRar B
. » HoTScATad g T FUel & TR wioerdr ofF T see Rt g
. » FERATET g W YOS gemem fdEd afFa o ¥

, % HIBcATAd glel WX el ® 3R Sfaerdr afed o gl

Question Number : 53 Question Id : 4151191653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The auxiliary motor used to bring svnchronous motor to near synchronous speed should have how many number of
poles as compared o the svnchronous motor?

Options :
w Half the number of poles of the synchronous motor

1
- % Iwo poles more as compared to synchronous motor

- « Equal to the number of poles of synchronous motor

, » Four poles more as compared to synchronous motor
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Question Number : 53 Question Id : 4151191653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

qeUFITelF AT F Jeldlod e &F o A7 F [0 95 W AT 7 JelHos Ay & ga@ar
# fras ga @9 Tfge?

Options :

i JeTHIoe AT & Yar @ TET | A
ik Jeueoes HAET % Yar Hr T ¥ & 0w
B_JWma#gﬁﬁmmw

e JeTITo AT & YAl I &1 § 91X 30w

Question Number : 54 Question Id : 4151191654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Under the condition of fixed V, B, and X, the maximum power devaloped by a synchronous moetor is given by which of
the following expressions?
(Where V 15 supply voltage, R, i5 anmature resistance, and 25 15 SyIchronous réactance.)

Options : 2
B %
o B =2
 Ede=gag
i B = f;z

Question Number : 54 Question Id : 4151191654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

B v, R, 3R X, & Tfa 7 geuwfoe A ganr efaa sfawas afea F sa0 & e

THIHIOT SERT YT foRar =T 27
(BT V AT deest 8, R, AR Jielid §, AR X, Jeasiiosd Saud §)

Options :

P
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4R

P, =—
1
P Ty
R
P o ﬂ-

Question Number : 55 Question Id : 4151191655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To operate two alternators in parallel. which of their quantities must be same?
Options :
, % Active power

> % Power factor

-  Phase sequence

, % Reactive power

Question Number : 55 Question Id : 4151191655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& TTTadR T THGT FH H T & O, 396 HiF O IR &5 g arfge?
Options :

1 #® P’W%ﬁ?—r

warﬁ?ra;trm:

. o B FHA

4 Hﬁmﬁﬂlﬁﬁ'

Question Number : 56 Question Id : 4151191656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The type of tariff in which a consumer is penalised or given discount when the power factor falls below or above the
referance value respectively is:

Options :

1 % flat rate tariff
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o o Sliding scale tariff
5 w two-part tariff

4 % maximum demand tariff

Question Number : 56 Question Id : 4151191656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

= ufdd U HEW AW { FH A i § @ IR oI E, A A § e 9w & ARw (@)
& U 97 IIRIGAT ST S[AT o9 ST & 97 GE & A 67

Options :

AT gT-gHm

1 %

e Sgeld ST aTell a-gE!
=" er-8Te T g

, x FHIEFAH AT -

Question Number : 57 Question Id : 4151191657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fusing factor value is always:
Options :
, % equaltoone

> % lessthan one
= « more than one

4 % equaltotwo

Question Number : 57 Question Id : 4151191657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Hee 0T (FIeTeT here) AT gARm Thaarr giar 7
Options :

| % TP & SR

5 % T H HH
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Question Number : 58 Question Id : 4151191658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum economical voltage range for a vacuum circuit breaker is:

Options :
| & 36KV

5 % 400KV
s % 200KV

4 % 22KkV

Question Number : 58 Question Id : 4151191658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

et Ry e (FFgF @l 97 & T 3Meas Baead aiees dar faer giar 87

Options :

| v 36 kV
. % 400 kV
2 % 200 kV

L% 22 KV

Question Number : 59 Question Id : 4151191659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of arrester has the following assemblies?

a. Series spark gaps
b. Non-linear resistor discs in series
Options :

, % Rod gap arrester

- % Multi-gap arrester

- » Expulsion type arrester
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4 « valve type arrester

Question Number : 59 Question Id : 4151191659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A8 ¥ O 9oR # ud (3NFR) 7 F=aefle mwkew e 2

a. O Tk 3T
b. Sofrrm 7 AT 9oy B

Options :

| x EE-HR WUF (3TR)

- a‘g’-ai?-n ereh (3T

L STEET JeF (3F)
4 Tod FER F PUF (3RTEX)

Question Number : 60 Question Id : 4151191660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bundled conductors are used to:
Options :
. % reduce regulation

-  reduce corona discharge

- % reduce line capacitance with respect to ground

4 % rteduce total weight of the line

Question Number : 60 Question Id : 4151191660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g2l ITelshl T 3941 fhE fore f&Far amar 22

Options :

| % AUFET W FH WA F T

. BT AEed o1 SR B W@ 0 RS F e

e qH & FET F BT ORAT H FH A & o0
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Question Number : 61 Question Id : 4151191661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of furnace suffers from pinching effect?
Options :

, % Coreless type induction furnace

> % Ajax-Wyatt furnace

- w» Indirect core type induction furnace

4 « Direct core type induction furnace

Question Number : 61 Question Id : 4151191661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

=8 ¥ g gr #r gy, ™R gama (pinching effect) & wanfaa g &2

Options :

1 ® W—Tﬁﬁmﬁmﬂ'@'
, u JSFH T A

% HICTET T R HT 90T ST5T

2

. » TCTET FIT FRI Hr 90T A

Question Number : 62 Question Id : 4151191662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine the number of lamps regiired to illuminate a room of area 200 m? to a level of 310 Ix. Assume utilisation
factor = (.6. maintenance factor = 0.63 and the lumen output of each lamp = 2850 Im.

Options :
| 58 lamps
5 % 48 lamps

- % 30 lamps

4 % 28 lamps
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Question Number : 62 Question Id : 4151191662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

200 m* SFFA o TF FAT F 310 Ix F 897 FF TR Fi0 & o fas ooy & smaasar
@R ST U = 0.6, TEREE AUF = 0.63 3T 97 o9 F AT HFIYE = 2850 Im A A

Options :

.« 58 o
x 48 ofw

NI

Question Number : 63 Question Id : 4151191663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A JFET has the following parameters: Viggm = = 8 Vo Ipgs * 30 mA. and Vigg = ~ 4 V. The drain current will be:

Options :
 w TS5pA
> o T.5mA

T R 5.7 mA

% S.7UA

Question Number : 63 Question Id : 4151191663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

F JFET & @ ArEe £ Vaspn = -8V, Ipss = 30 mA, T Vas = -4 V 398w (21 urr
et gefr?

Options :
% 7.5 pA
- v 7.5 mA

- % 57 mA

4 # 5.7 pA

Question Number : 64 Question Id : 4151191664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Determine /5 in the given circuit.

D, 10kQ2
DWW
—!"f'. —i-lf'.l
5V = J! E“-‘
i

5 kid

Options :
1 # 0.07mA

o o 2.72mA
5 % 2.65mA

4 ® 2.79mA

Question Number : 64 Question Id : 4151191664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

few srv ooy & Ip; = Furer Hifsw)

D, 10k

Df e W

-1, — [

|
<

ISV

) S

5 kil

Options :

. % 0.07 mA
> w 2.72 mA
. % 2.65 mA

L % 2.79 mA

Question Number : 65 Question Id : 4151191665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Ideal diode is characterised by:
Options :
, % nfinite knee voltage

- w» infinite average AC resistance

5 # ZCI0 Ieversc resistance

4  Zero average AC resistance

Question Number : 65 Question Id : 4151191665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e s W T F @ B F o e B s 22

Options :

% HAD HAA Floc
- % A H@T AC SfeRTe
o AT HURA gfererer

=3

4¢aﬂ3ﬁﬂHAC9ﬁﬁH

Question Number : 66 Question Id : 4151191666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a comrmon base conmection. if the entter enrrent 152 mA and eollector current 15 1.95 mA, then the base eurrent will ba:

Options :
1 % 395mA
> % 1.02mA

= o 0.05mA

4 % 0975 mA

Question Number : 66 Question Id : 4151191666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF FHE IW FHRE #, I vfEeT U 2 mA AT FEeeT Ut 1.95 mA B, & ¥F umo Reeer g
Options :

| % 3.95 mA

= 1.02 mA
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- v 0.05 mA

, = 0.975 mA

Question Number : 67 Question Id : 4151191667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When does a transistor work as an inverter?
Options :
, % When operated in saturation region

- % When operated in cut-off region
=  When operated between cut-off and saturation region

4 % Itdoes not exhibit switching property in any region

Question Number : 67 Question Id : 4151191667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Uk TIfeEeT Fd Uk Sodcd o olg &IH HIam g2

Options :

S "Hgfta &9 F Fatfeld #har STdr €

1 #

. w 1§ FE-HH 8T H T HAT ST §
S_WF:Ha'aﬁiafhﬁ &7 3R Fafa &7 F @iwr e Br Jrar §

i s R off &1 & s F3 7 707 74T T g

Question Number : 68 Question Id : 4151191668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The stator of a split phase induction motor has main winding and auxiliary winding displaced in space by:
Options :

1.« 90°

~ % 180°

5 % 270°

4 % 360°
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Question Number : 68 Question Id : 4151191668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fecere et SROT A F T FT 7y aEfEE AR wers I, vw F e i & For |
Options :

1\:;5’900
> % 180°
. % 270°

4 % 360°

Question Number : 69 Question Id : 4151191669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of following is the least efficient type of 1-phase induction motor?
Options :
, # Capacitor-run type

- # Split-phase type

= » Capacitor-start type

4 « Shaded-pole type

Question Number : 69 Question Id : 4151191669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

=ef@a 7 & #iF § I F 1-57 90T JieT 399 Z&arErer 2 87

Options :

i, & m-ﬂﬁﬁmﬁ

« TECIE-Whal YR 0

!\_’l

. « TURE-vafag w&Rr &

o TG TR A

Question Number : 70 Question Id : 4151191670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To reduce commutation difficulties, the universal motors are designed with:

Options :
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| w very strong magnetic field
-  Weak magnetic field

- % moderate magnetic field

, % commutation problem does not depend on the strength of magnetic field

Question Number : 70 Question Id : 4151191670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fraafraaer St gREmat #7875 F B, ToeitEs Jer e o =T ¥

Options :

|y HOUTUE AT T &9 % A
EJWWH#WEI
HAETH R &1 & WY

3 ®

= feeraftade Foeae Fehar 817 & AT W AR 7 e €

eneral Aptitnde

Section Id : 41511957
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questions to be attempted: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 41511975
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 4151191671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the perimeter of a square is 328 m, then the area of the square (in m? ) is:

Options :
| % 7056
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5 o 6724
s % 6644

4 % 3528

Question Number : 71 Question Id : 4151191671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ofg v o7 Fr aiifey 328 m g, 3 T 7 9% (m? #) Gaar geme?
Options :

| % 7056
» v 6724
- = 6644

. = 3528

Question Number : 72 Question Id : 4151191672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sum of € 1,47.378 is divided between two persons A and B in the ratio 4 : 7. The difference between thrice the part of
A and twice the part of B will be:

Options :
| o 326,796

. % 70,196
3 % < 53,592

4 % 372,392

Question Number : 72 Question Id : 4151191672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

14738 T 4 . I F ¥ O AT AT AN EFfo Rt Fm T A R F =
7 A B & Ty & 2 e & & F e Haer e

Options :
. v 326,796
. % 370,196

. 53,592
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i » T72,392

Question Number : 73 Question Id : 4151191673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sumple mterest on a certain sum at 6% per anmum for three years 15 € 1,200, Then. the compound mterest on the
same sum at the same rate for fwo years will ba:

Options :
1 % <724

> % T816
3 o T824

4 % T1216

Question Number : 73 Question Id : 4151191673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e a9t & e 6% ofF a9 &1 T oy 97 s s 1,200 ®) & §RW uaaf 97 5AW 2T
# & 7ot & v awgfy e Reaer g

Options :

, % T724

% <816

R

v <824

Lol

u 1218

o

Question Number : 74 Question Id : 4151191674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Eth of a number is 36 more than the number itself. The number is:

Options :
1 =R 64

(iRl 56

= o 48

Question Number : 74 Question Id : 4151191674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 ® 64
o B 56
o o 48

4 ® 42

Question Number : 75 Question Id : 4151191675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the present ages (in years) of two persons A and B is S 1 4. After six vears, the ratio of their ages will be
17 : 14. Then, the ratio of their ages after 12 years will ba:

Options :
1 % 15:8
> % 15:13
= o 19:16
4 ® 19:18

Question Number : 75 Question Id : 4151191675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gr =afFadl A #iT B &1 F0Aw A (@9 #) F Fq99 5 0 4 ¥ OF 99 F A, IAA Hg F HA9H
17 : 14 R 12 39 F @ 3T HY F FGOE e gem?

Options :
. % 15:8
- % 15 : 13
2« 19 : 16
4% 19: 18

Question Number : 76 Question Id : 4151191676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A shopkeeper bought 245 articles at T 30 per article and spent ¥ 2.450 on their packages. He sold these articles at T 50
per article. The percentage profit camed by hun was:
Options :

1 ® 20%
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> % 22.5%
s« 25%

4 % 27.5%

Question Number : 76 Question Id : 4151191676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF gEEER & 245 WA T 30 Wi WA @Y ¥ win H{iv 3 R W T 2,450 o T e
ﬁmﬁfﬁﬂﬁmﬁﬂﬂﬁlﬁﬂmﬁmﬁﬁmmngﬂ?

Options :

| % 20%
. % 22.5%
- v 25%

L % 27.5%

Question Number : 77 Question Id : 4151191677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A and B together can do a piece of work in 4 days. If A-alone can do it in 12 days. then B alone can do the work in:
Options :
, % 10days

o w 9days

- w Odays

4  Odays

Question Number : 77 Question Id : 4151191677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT B T4 A AT FR T oad 21 T A SR s0 12 AT & ST BT &, &7 B Hy
TH T W T e 7 s

Options :
1 ® 10 m?f
. 9 %?r

T Sﬁ?r
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Question Number : 78 Question Id : 4151191678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A right cireular cone of height 15 em and base radius 15 em 15 carved out of a wooden sphere of rdius 15 em. Volume
of the remaining wood (in %) is:

Options :
1 ® 25

5 % 37.5

z ® 50

4.« T3

Question Number : 78 Question Id : 4151191678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

15 em o & 758 & 7 4 15 om € 31T 18 em o f¥SET ST vF AR A T &1 A
sl #r ¥MIEA (% H) £
Options :

1 ® 25

> % 375

4« 75

Question Number : 79 Question Id : 4151191679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A boat goes 8§ km downstream in 1 hour and takes 4 hours 10 2o the same distance upstream. The speed of the boat in
still water is:
Options :

1 # 6km/h
- « 5 km/h
=z % 4km/h

4 % 3km/h

Question Number : 79 Question Id : 4151191679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. % 6 km/h
. v 5 km/h
- % 4 km/h

4 % 3 km/h

Question Number : 80 Question Id : 4151191680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mean of 20 observations was calculated as 50, But it was found that the observation &l was misread as 64. The
correct mean will be;

Options :
i o 55:85

5 % 54.75
s % 54.85

4 % 54.65

Question Number : 80 Question Id : 4151191680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

20 WHEIFAT FT AT 56 F 9 A foper i 72 off 2w o7 oror v B yEEEa 61 F Ear O 64
HHAWT AT UT| HE ATCT &4 g

Options :

| v 55.85
. % 54.75
- % 54.85

4 % 94.65

Sub-Section Number: 2
Sub-Section Id: 41511976
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 4151191681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Select the term that will come next in the following series.
ayz, bwx, cuv, dst. ?

Options :
1 ® erq

> of eqr
=z B €pq

4 % efs

Question Number : 81 Question Id : 4151191681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A BT 71w Reredi H ¥ 37 e F TG4 X SN 5F ST H 3ol HH H HC

ayz, bwx, cuv, dst, ?

Options :
L % e
2 v o

2 % €PQ

4 % efs

Question Number : 82 Question Id : 4151191682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The two words m the word pair given below are related m a particular way. Find the option m which the two words are
related in the same way.

Knife : Instrument
Options :
1 #® Needle : Iron
- % Omament : Gold

= « Hammer : Tool

4 % Shoe : Leather

Question Number : 82 Question Id : 4151191682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TH W FEUT §

Erliﬁ:?-i'al

Options :

o TS FE

!

| HTENUT: FEOT
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4 ® ﬂ\E : >

Question Number : 83 Question Id : 4151191683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language, SMARTER is coded as SFUSBNT. How would RIVULET be coded as in that language?
Options :

1 # IRUVTEL

» % UMFWVSJ

5 % SIWVMFU

4 ¢ UFMVWIS

Question Number : 83 Question Id : 4151191683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ofe e F1E 89T # SMARTER & SFUSBNT & w9 & fBar smar § &1, 330 &% smar & RIVULET &r
#r B smeen?

Options :

. = IRUVTEL
- %« UMFWVSJ
- % SJWVMFU

4 v UFMVWJS

Question Number : 84 Question Id : 4151191684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Two statements are followed by two conclusions. Assuming that the statements are true even if they do not conform to
real world knowledge, decide which of the conclusions logically follows/follow fram the statements.

Slatements:
|. Some fruits are veastables.
2. All apples are fruits.

Conclusions;
. Some apples are vegetables.
I1. All apples are vegetables.
Options :

 # OnlyIfollows
5 # Only II follows

=z % BothIand II follow

4 « Neither I nor II follows

Question Number : 84 Question Id : 4151191684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& Fust & wE o Trewd e A ¥ 37 AW ge T wuw aers § e @ 3 et g & e
¥ ¥eT 7 @1, 7% U o F S @ T @i 9§ FuE & S S g g

H;
1. o w9 weaa
2. T A9 v £

e
. FC FF Fle=a £
i. wor fw wiesar £

Options :

lﬂmﬁ'@é‘lwm%

o arel ARy || 3EI0T LT 7

. s | 3R 11 S e A 8

4wﬂﬁ‘ﬁwlsﬂtﬂﬁﬁ“ﬁéll I EIOT FLAT §

Question Number : 85 Question Id : 4151191685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which option will replace the question mark (?) in the following number series?
5.9 k3 24, %, 57

Options :
1, ¢ 35

(iRl 29
o 31

E 33

Question Number : 85 Question Id : 4151191685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fafe T g @ & o REd (?) & T W &g a1 &FheT HTwen?
5 7. 14 21, %, 57

Options :

1 & 35
o ® 29

g4 33

Question Number : 86 Question Id : 4151191686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The numbers in three of the following mmmber-pairs are related m a certaim way and one pair 15 different. Find the odd

number-pair.
Options :

1 ® 7—50
5 % 3-22
= o 5—32
4 % 9-064

Question Number : 86 Question Id : 4151191686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

F=fafls # § &9 geo-giE # e vw Bies 3 @ meEfte € Hn o g s 21 e
FEOT-GE A AT FET

Options :
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-8 A - 22
ot h - 32
4% 9-64

Question Number : 87 Question Id : 4151191687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the two signs in the following equation should be interchanged to make the equation correct?

8+-4—-6+9x3=10
Options :
1 ® ¥and -+

- % —and x
z ® —and—

4« Tand+

Question Number : 87 Question Id : 4151191687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

s g & & sta @ & o6 (s T & 38 a9 & BT oeer wEe I e

8+4-6+9x~3=10
Options :

1_~{6<3ﬂ1—+

Question Number : 88 Question Id : 4151191688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two rotated positions of a dice are given below. Which number is on the face opposite to the face containing 27?7

6 2
4 & |3

Options :
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1_%]
2_%3

3. ¢ 4

Question Number : 88 Question Id : 4151191688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T qr & & PuFat A= & a2 ¥ 2 ¥ &% Aoy o Fia & g aee

Options :
1 % 1

2_3@3
z« 4
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Question Number : 89 Question Id : 4151191689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following diagram. the square stands for ‘rich’. the rectangle stands for ‘honest’ and the circle stands for
‘businessmen’. The numbers in different sections are the number of persons in those sections.

+— Businessmen

Rich — & / 7

Honest —»| 12 6

How many rich businessmen are NOT honest?

Options :
1 # 10
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Question Number : 89 Question Id : 4151191689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 90 Question Id : 4151191690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language. MONKEY is coded as ZNOEKN. How would BANKER be coded as in that language?

Options :
| « SNAEKC

> % CEKNAS

. x QNAEKA

4 % SKENAC

Question Number : 90 Question Id : 4151191690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ofg TF *1=F A9 H MONKEY &1 ZNOEKN = 9 # Togr 3= & 37 387 &1 997 § BANKER &7
e w9 A7 A Ay

Options :

. v SNAEKC
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Sub-Section Number: 3
Sub-Section Id: 41511977
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4151191691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the full form of the term ‘DBMS’ used in Computer Science?

Options :
, % Duplicate Broadband Managing System
- % Designed Based Marking System

5 Database Management System

4 % Double Bundle Management System

Question Number : 91 Question Id : 4151191691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 92 Question Id : 4151191692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which vear was the Scheduled Castes and Tribes (Prevention of Atrocities) Act passed in India?

Options :
, % 1975
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> « 1989
s % 1992

4 % 1997

Question Number : 92 Question Id : 4151191692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. % 1975

5 » 1989
5 % 1992

. = 1997

Question Number : 93 Question Id : 4151191693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following countries has the longest coastline?
Options :

, % Philippines

> % Russia

= % Indonesia

4 « Canada

Question Number : 93 Question Id : 4151191693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 94 Question Id : 4151191694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In terms of age. as of February 2019, the oldest prime minister in the world belongs to:
Options :

, « Malaysia

- # Singapore
=z % Russia

4 % Japan

Question Number : 94 Question Id : 4151191694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 95 Question Id : 4151191695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to World Economic Forum Report 2018, which country has the highest life expectancy?

Options :
| % Japan
5 o Hong Kong

= % Spain

4 w Haly

Question Number : 95 Question Id : 4151191695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Sub-Section Number: 4
Sub-Section Id: 41511978
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 4151191696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

UNESCO has declared 2019 as the international year of which scientific phenomenon?

Options :
1 ® Laws of Motion

> u Archimedes’ Principle

= « Period Table of Chemical Elements

4 ® Avogadro’s Law

Question Number : 96 Question Id : 4151191696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1%;1.%3;[%-&1;

Question Number : 97 Question Id : 4151191697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following nations has withdrawn from UNESCO in 20197

Options :
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1 « United States of America
5 % Japan
= % India

4, % United Kingdom

Question Number : 97 Question Id : 4151191697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 98 Question Id : 4151191698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the new name of Faizabad District of Uttar Pradesh. approved in November 20187
Options :
, % Prayagraj

>  Ayodhya
- » Nandnagri

4 % Sreedham

Question Number : 98 Question Id : 4151191698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 99 Question Id : 4151191699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following has been appointed as the Chief Election Commissioner of India in December 2018?
Options :
1 % Nasim Zaidi

> % V.S.Sampath
3 « Sunil Arora

4 % S.Y. Quraishi

Question Number : 99 Question Id : 4151191699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 100 Question Id : 4151191700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following was the chief guest for the Republic Day Parade 2019?
Options :
, « Cyril Ramaphosa

- w Lee Hsien Loong

- % Sultan Hassanal Bolkiah

4 = Najib Razak
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Question Number : 100 Question Id : 4151191700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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